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2 �)( 4 ,�-�;���� det(A) = a21ã21 + a22ã22 + a23ã23 + a24ã24 ��<���2�=�>�? n @���! A ?A)BDC
det(A) =

n
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s=1
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Qs · · ·Q1AP1 · · ·Pt =

(

Er O
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)

�¤£�F¥�¦2§M�M 4 A
o¦��� �¥!i<¨# 4 ��© o En ��<��¦2«ª­¬ Qs · · ·Q1AP1 · · ·Pt = En �¦<¥�¦2§M�M4¥® ©­?¦� T 0 P−1

t
� T F��­� Qs · · ·Q1AP1 · · ·Pt−1 = Qs · · ·Q1AP1 · · ·PtP

−1
t = EnP−1

t = P−1
t��<���2z��0y? ® ©5?�� T 0 Pt � T F���� C PtQs · · ·Q1AP1 · · ·Pt−1 = PtP

−1
t = En ��<���2 `¯ M 1���°S ²± B t��)��� C P1 · · ·PtQs · · ·Q1 = E ��/���2)M�#�| o A

o � p�q�r�s _iF 4 En? r�s�4�� ��|���³ B t�����2
(A|En) �´� p�q�r�si4 (En|B) ? B ^­� � C p�q ��!i#%µ 4�T F��¦��! X .�¡�¢ B t X(A|En) =

(En|B) ��<¶��t§����2�M�#�� � XA = En , XEn = B ��<���# 4 C X = A−1
T ' XB ]���t

B = A−1 ��<���2
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